Honors Chemistry 1
Test 1 - Review Problems

Perform each of the following conversions. Use significant figures:

1. Express the following in grams:

) 900mg ':g 3’ Oqﬁ b)23.0ke Tk.;‘! Z%OKMJ

¢) 0.0300 pounds }( 454 3 = lg'bg d) 540.0 mgx

= 0.5400
b J

100 ﬂ}f

2. Express the following in liters:

2) 367.0mLy_ 1L~ by 6so0cmd x L = b.
X 1660 ML O'%7OL Ty /0000m3 (o 8L

c) O.950quarts)( “/ =0.990Ld 10701mL/(__~__|,£,Mj ]0,7_CJLL
lObc[tf 1000mL

3. Express the following i m meters:

2) 806ooph,mx }me 0, 2/\06 b) 5.80 X 10* mm L%O?mm = 5%.0m

) 39.5 inches ,m = 1 ,00m, d) 0.0540 miles X “(%

“Ham 27 T
= 07,0m
4 a) Tell the number of significant figures in the following:
0.04500 9.100x 105 Y
78000 77 10.0090
b) Round to three significant figures:
98.660 49.7 06701 X 10 0.6T0£/07
3600 3, 4,0)(103 70.0800 7). |




¢) Perform each of the following calculations to the correct number of significant figures:

86.00 X 0.0810 = [, Q"1

9620 +5.1002 +25.5 = [0, D
89.900-23.6 = plp.?
56.01/0.090= (,20

5. A box measures 14.00 cm X 2.01 cm X 6.00 cm. What is its volume in liters?

‘3 /|
b em ¥ = (L = 0l? L
1000cm?
6. A piece of metal weighs 5.00 g and it displaces 0.830 mL of water. What is its density in
g/em3?

=M, =500 _ ,
d=", 5'8/55,””; = 60293

7. A student has found the density of lead to be 11.3 g/ cm3. What is the volume displacement
| 0f 35.01 g of lead?

s I Y
EE/P%

8. The density of zinc is 7.14 grams per milliliter. What is the mass of 0.090 liters of zinc?

| , =490, mL
m=dyv 5(7,19 9/mL)(ClO. ml) = 409 i

9. Calculate the density (in g/mL) of a metal block with a mass of 65.30 grams and dimensions
6.90 cm X 7.20 cm X 1.0 cm.

v = 50, cm?
d:lYI/V 565/.%4 o 1%

. M : . Y

10. The mass of an un.gxoown metal is 10.00 grams. The volume reading on a graduated cylinder
is 4.00 mL initially and is 6.25 mL after the metal is added to the cylinder. What is the
density (in grams/ cm’) of the metal?

V=V = b 25—H,00mL = 2.25ml

Ql'; /0100 = L{C/ 9 /4
/2_.?520”’3 4. /Cm




11. Calculate the mass of a piece of metal that has a density 0of 6.90 g/ mL and a volume of 2.00

cm3 8

M=dx = (690, )2.00mL) - 3.8

12. Calculate the percent error for an experiment when the density of a metal was found
to be 2.54 g/mL. The accepted density of the metal when looked up in a handbook was
2.70 g/mL.

% error = | accepted value — experimental value | X 100
accepted value

ey = [2.710ML =7,54 Y |
2'709101(/

= 5.93%
13. Complete the following table

Symbol Atomic # ’Q/ Mass W Protons Neutrons ’ Electrons"“\\d
A el I "\, Z’Z F\J
a4 |
. B. l Hﬁ 199 ZSQ ) , q

X(00

°

PREREBEP

e Zfﬂi%_ 100 80 120
o. Py % 4
E. 32p _%L_ JL !7
. D . 14

STROETP

1% :
G. l ) 123 51 17

H. Iy K U q4 [0Y 44 60
5 9 ] A"Lﬁm( Mﬁ” protov neutane  plocttns




